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DSolve[xy " [X] +2Yy[X] == SIin[Xx], Y[X], X]
C[l] -xCos[x]+Sin[x]
{{roa - })

.
x2 x2

1

DSO'VG[{y' [X] == m

. YI1] == 0}, yIx1, x|

Solve:ifun:

Inverse functions are being used by Solve, so some solutions may not be found; use Reduce for complete solution information. >

Hy[x] »Log[x7\/71+x2 H {y[x] »Log[x+\/71+x2 H}
DSoIve[xy'[x] = A1-y[x]1?, yIx], x]

{{y[x} 51+28Si nh[% (C[1] +]1Log[x})r}}

DSoIve[y'[x] == i YIX], x]
yIx] +BYPI
{{y[x} > I nverseFunction|e™ + Hziz &] [e’x + X2—2 +C[1]H}

DSolve[{X +Y[X] E*y~"[X] = 0, y[0] =1}, Y[X], X]
DSolve:bvnul : For some branches of the general solution, the given boundary conditions lead to an empty solution. >

{{y[x} SV-1+2e-2eXx }}

b
DSoIve[y'[x] == w, yI[X], X]
CX+

Hy[x} L, (d+cx>a/°C[1]}}
a
DSOlve[y'[X] - _M, y[X], X]
bx + cy[x]

“bx -+ce2Cll 1 h2x2 _ac x2 “bx++vce2Cll ;1 p2x2 _ac x2

{{ymr - - by - }

DSolve[0 = EXSin[y[x]] +3y[x] + (3 (x+Y[X]) +EXCos[y[x]]) y"[X], Y[X], X]

: 3y[x]?
Solve[eXSm[y[x}] +3XY[X] +T::C[1], y[x]}
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